DATE	INVOICE #
16/11/2022	1604

INVOICE TO	

REGO #	
MAKE	
MODEL	
ODOMETER	
ENGINE #	

	id ka	TERMS	Due on receipt	
DESCRIPTION	QTY	RATE	TAX	AMOUNT
EXTRA PARTS REQUIERD NEW INVOICE				
VALVE CAMSHAFT 4298827 REAR INLET ROCKER 5484231 FRONT INLET ROCKER 5484230	1 3 3	4,295.10 424.33 526.37 0.00	GST GST GST GST	4,295.10 1,272.99 1,579.11 0.00
	Subto	otal		\$7,147.20
Payment can be made to the following bank account:	Tax		\$714.72	
	Tot	al	\$7,861.92	

INVOICE #
1604

INVOICE	го			

REGO #	
MAKE	
MODEL	
ODOMETER	
ENGINE #	

	TI	ERMS	Due	on receipt
DESCRIPTION		RATE	TAX	AMOUNT
EXTRA PARTS REQUIERD NEW INVOICE / FINAL REPAIR INVOICE, CARY OUT INFRAME ENGINE REBUILD, STRIP ENGINE CARRY OUT COMPONNETS INSPECTION, VALVE CAM & ROCKERS WORN, MEASURE LINER HIGHTS @ 0.010 TO 0.011' ACROSS ALL CYLINDERS OK NO CUT REQUIRED, INSPECT OIL PUMP STRIP & CLEAN OK FOR REUSE REMOVED ALL MAIN & BIGEND BEARINGS INSPECT CRANKSHAFT NO SCORING OK FOR REUSE, POLISH INJECTOR CAM, INSPECT ROCKERS OK FOR REUSE, CLEAN INSPECT INJECTORS OK FOR REUSE, CLEAN INSPECT TURBO LOOKS OK FOR REUSE, INSPECT ALL CRANK & CAM DRIVE GEARS OK FOR REUSE, CLEAN INSPECT TURBO LOOKS OK FOR REUSE, INSPECT THERMOSTATES ARE BADLY WORN IN SEALING AREA REPLACED, REFIT NEW STYLE CYLINDER LINERS, CLEAN INSPECT CONRODS OK, REFIT NEW PISTONS & RINGS, REPLACED MAIN & BIGEND BEARINGS, REFIT NEW CUMMINS CYLINDER HEAD, REFIT SERVICED GEAR HOSING WITH NEW GASKETS & SEALS, REFIT INJECTORS WITH NEW SEALS, REFIT NEW VALVE CAM AND ALL INLET ROCKERS, REFIT ALL CRANK & CAM				
	Subto	tal		
Payment can be made to the following bank account:	Tax		will i	
	Tota	al	400	

DATE	INVOICE #
16/11/2022	1604

INVOIC	E TO			

REGO #	
MAKE	
MAKE	
MODEL	
ODOMETER	
ENGINE #	

	TE	ERMS	Due	on receipt
DESCRIPTION	QTY	RATE	TAX	AMOUNT
DRIVE GEARS .RETIME ENGINE ,INSPECT ENGINE BALANCER IS OK REFIT ,REFIT ALL ROCKER SHAFTS ADJUST TOP END ,REFIT NEW ENGINE BRAKE HARNESS ,PAINT ALL ENGINE COMPONNETS & REFIT TO ENGINE WITH NEW GASKETS & SEALS , TAKE RADIATOR TO WASH BAY CARRY OUT DEBUGGING , PRESURE TEST CHARGE AIR COOLER , CORE IS CRACKED ,REFIT NEW UNIT , REPLACED ENGINE MOUNTS , REPLACED ALL RADIATOR MOUNTS & SUPORT RUBBERS , REPLACED ALL RADIATOR HOSERS & MOST CLAMPS , CONVERT HEATER TAPS TO BALL VALVE STYLE , REPLACED ALL HEATER HOSERS , MAKE UP & REFIT RADIATOR BLEED HOSE , REPAIRED RUDDED 'EBGINE WIRING AS FOUND , REPLACED ALL FILTERS , REFIT OWNERS STARTER MOTOR , REMOVE ALL BATTERYS ,& REPLACED WITH LOW KLMS LOW HOURS UNITS ,NO CHARGE \$, REPLACED ALL BOOST HOSERS & MOST CLAMPS , REPLACED MOST 'P CLAMPS MISSING NUTS , BOLTS ECT5 ,FIT TOOLING PRESURE PRIME ENGINE LUBE SYSTEM , FILL ENGINE WITH OIL & COOLANT , REFIT TAIL SHAFT , OVERHAULED HORTON				
Payment can be made to the following bank account:	Subto	tal		
	Tota	al		

DATE	INVOICE #
16/11/2022	1604

	TI	ERMS	Due	on receipt		
DESCRIPTION	QTY	RATE	TAX	AMOUNT		
FAN HUIB, REPLACED BELT DRIVE PULLEY WAS NOTE ABLE TO REMOVE BROKEN SCREWS, REFIT NEW BEARS TO TENSIONERS & IDLER PULLERS, REPLACED BELTS, START ENGINE RUN TILL FAN ON 3 TIMES & CONFIRM GAUGERS OPERATION, TAKE TO WASHBAY WASH TRUCK						
Payment can be made to the following bank account:	Subto	otal				

DATE	INVOICE #
16/11/2022	1604

INVOICE TO	

REGO #	
MAKE	
MODEL	
ODOMETER	
ENGINE #	

DESCRIPTION		TERMS		Due on receipt	
		RATE	TAX	AMOUNT	
VALVE CAMSHAFT 4298827	1	4,295.10	GST	4,295.10	
REAR INLET ROCKER 5484231	3	424.33	GST	1,272.99	
FRONT INLET ROCKER 5484230	3	526.37	GST	1,579.11	
SUBCON SUPLY NEW CHARGE AIR COOLER inc freight	1	2,250.00	GST	2,250.00	
3039023p sencor temp	1	96.98	GST	96.98	
1745-2443 swith -low oil presure	1	54.72	GST	54.72	
360.001 sender oil switch	1	98.72	GST	98.72	
kk056-177 radiator mount	2	66.87	GST	133.74	
af1969mk air filter	1	114.89	GST	114.89	
<254-84 rubber radiator	6	19.88	GST	119.28	
k221-4992 spacer	4	19.58	GST	78.32	
35008sd hts mojor over haul fan kit	1	896.77	GST	896.77	
ne8781xl boost hose	2	84.48	GST	168.96	
16-1008-0458 boost hosers clamps	4	14.81	GST	59.24	
16-60009-0318413s clamps	4	13.18	GST	52.72	
20822-44 fittings bleed hose swivel	2	12.87	GST	25.74	
subcon loc hose 3 1/6'	1	56.91	GST	56.91	
275707 gov / valve	1	198.89	GST	198.89	
235677n gasket gov	1	18.44	GST	18.44	
4336659 coolant thermos	2	234.73	GST	469.46	
	Subtotal				
Payment can be made to the following bank account:	Tax				
	Tot	tal			

DATE	INVOICE #
16/11/2022	1604

INVOICE	ТО		

REGO #	
MAKE	
MODEL	
ODOMETER	
ENGINE #	

	Т	ERMS	Due	on receipt
DESCRIPTION	QTY	RATE	TAX	AMOUNT
3084879 thermo seals	2	91.65	GST	183.30
3683695 breather gromett	1	58.63	GST	58.63
<2547/jw clamp exhaust	2	27.94	GST	55.88
304134 breather ebow	1	46.36	GST	46.36
1962609 seal filler	1	67.84	GST	67.84
rf16049 fanhuib horton	1	430.31	GST	430.31
kd1030-2650a radiator hose	1	135.87	GST	135.87
xf50-1481 heater tap pipe	1	242.88	GST	242.88
4962722 seal	1	138.10	GST	138.10
kk066-404 engine mount	2	96.46	GST	192.92
d13-1012 engine mount uppert	2	119.89	GST	239.78
3163075 cummins paint	6	59.51	GST	357.06
3391271 engine lube	1	18.51	GST	18.51
subcon les-1091421 belt 10pk1805	1	93.64	GST	93.64
gw320021 15w/40 ck-4 indo engine oil 20ltr	2	198.58	GST	397.16
gw42054 coolant	1	218.84	GST	218.84
of1277sps fuel filter	1	98.48	GST	98.48
gw320021 15w40 ck-4 indo engine oil 10ltr	1	96.65	GST	96.65
es 1091681 ,bw5074 filter	1	49.41	GST	49.41
trlc32p 'p'clamps 32mm	6	4.89	GST	29.34
trlc44p 'p'clamps 44mm	6	5.63	GST	33.78
	Subt	otal		
Payment can be made to the following bank account:	Tax			
	Tot	al		

DATE	INVOICE #
16/11/2022	1604

	ICE TO	INVOIC	11

REGO #	
MAKE	1
MODEL	
ODOMETER	
ENGINE #	

	Т	ERMS	Due	e on receipt
DESCRIPTION	QTY	RATE	TAX	AMOUNT
subcon les 1091618 , s82-0808 elbow	2	28.64	GST	57.28
s-490808 90'elbow	2	16.89	GST	33.78
subcon les -1091610 , rs1-08m bsppf poppet	1	27.69	GST	27.69
s27-0808 bspnipple	1	12.49	GST	12.49
mbvm 1/2 ball valve	2	16.93	GST	33.86
subcon les -1091509 , hose boost	1	19.88	GST	19.88
subcon les 1091508 , belt 6pk1080	1	58.48	GST	58.48
lmu large 3/8 washers	16	0.49	GST	7.84
REPAIR LABOUR SUBCON machine gear housing	60	105.00	GST	6,300.00
	1	290.00	GST	290.00
	Subt	otal		\$22,067.02
Payment can be made to the following bank account:	Tax			\$2,206.71
	Tot	:al		\$24,273.73

DATE	INVOICE #
3/08/2022	1575

IVOICE TO		

REGO #	
MAKE	
MODEL	
ODOMETER	
ENGINE #	

		TERMS		
DESCRIPTION	QTY	RATE	TAX	AMOUNT
AT THIS TIME THIS IS A PARTS INVOICE, THAT WILL BE CONVERTED TO A TOTAL JOB INVOICE AT COMPLETION OF JOB LABOUR COSTS ARE EXTRA, STANDARD REPAIR TIME OF 50HRS @ \$105.00 + GST, COST INCLUED DEBUGGING OF RADIATOR, FITTING OF ALL RADIATOR HOSERS, HEATER HOSERS, HEATER TAPS REPAIRS TO ANY WIRING FOUND TO BE 'RUDDED' WHILE REPAIR IS BEING CARRY OUT, FITMENT OF ALL FILTER, ENGINE OVERHAUL, /, SUPLY OF ENGINE OIL, COOLANT, AIR FILTERS, HEATER HOSERS, RADIATOR HOSERS ARE EXTRA / PARTS ARE FOR STD ENGINE BUILD PRE- STRIP DOWN O 5693812 ENGINE OVER HAUL KIT NO BIGENDS 5658283RX NEW CYLINDER HEAD 4985562 GEAR HOUSING GASKET 4955383 FRONT CRANMK SEAL 49655690 GASKET AIR COMPRESSOR 4962722 LOWER TIN PLATE STRIP MSEAL	1 1 1 1 1 1	6,779.87 6,354.83 372.22 377.98 159.98 112.77 118.56	GST GST GST GST GST GST GST	6,779.87 6,354.83 372.22 377.98 159.98 112.77 118.56
	Subt	otal		
Payment can be made to the following bank account:	Tax			
	Tot	al		

DATE	INVOICE #
3/08/2022	1575

INVOICE TO		

REGO #	
MAKE	
MODEL	
ODOMETER	
ENGINE #	

1 49.23 2 21.84 1 59.83 1 779.8 2 9.86	GST GST GST	49.23 43.68 59.87
2 21.84 1 59.8 1 779.8	4 GST 7 GST	43.68
1 53.9 4 59.2 4 16.7	GST GST GST GST	779.88 19.72 53.97 236.84 67.08
Subtotal		\$15,586.48 \$1,558.66